BA#¥DOE  x*+(a+b)x+ab=(x+a)(x+b) DR
ROXZEZRABHEE L,

(1) x*+5x+6 (2) X2—Tx+6 (3) x*+3xy—10y?
S % &

ROREEHH L L.

(1) x*-9x+14 (4) x*+6x+5
& %
(2) x*-8x+12 (5) a’+5ab+6b?
% %
(8) x*+10x+21 (6) x*+7xy—18y°
& %




BA#¥DOE  x*+(a+b)x+ab=(x+a)(x+b) DR
ROXZEZRABHEE L,

(1) X +5x+6 (2) X*-7x+6 (3) x*+3xy—10y*
* * *
x> +5X+6 x* —7x+6 x> +3xy —10y?
=(x+2)(x+3) =(x-6)(x-1) =(x+5Yy)(x-2y)
% (x+2)(x+3) = (x—6)(x—1) = (x+5y)(x—2y)

ROREEHH L L.

(1) x*-9x+14 (4) X*+6x+5
* *
x* —9x+14 X2 +6X+5
=(x-2)(x-7) =(x+1)(x+5)
% (x=2)(x-7) = (x+1)(x+5)
(2) x*-8x+12 (5) a’+5ab+6b?
* *
x* —8x+12 a’ +5ab +6b°
=(x-2)(x-6) =(a+2b)(a+3b)
% (x—2)(x-6) % (a+2b)(a+3b)
(8) x*+10x+21 (6) x*+7xy—18y°
* *
x* +10x+21 X2 +7xy—18y*
=(x+3)(x+7) =(x+9y)(x-2y)
& (x+3)(x+7) G (x+9y)(x-2y)




